DEPARTMENT OF PURCHASING AND CONTRACTING BID TABULATION

COMPANY			P & H SUPPLY Company	
ITEM	DESCRIPTION	Estimated Number of Units	Unit Price	Amount
1	Rods, sewer, 5/16" x 36", in accordance with attached Minimum Technical Specifications, Serco-Flexible.	1500	\$11.00	\$16,500.00
2	Rods, sewer, ¼" x 6', Hex Coupling in accordance with attached Minimum Technical Specification, Coupling made from 14L40 high Carbon Aircraft Alloy Steel.	1500	\$12.00	\$18,000.00
3	Tool Adaptor Rod, for fastening cleaning tool to rod coupling, for use with Rod Size 5/16-inch, with nuts having different threads and thread directions; Serco-Flexible No. SBC-1-3SS "Super Short".	40	\$65.00	\$280.00
4	Assembly Wrench for 5/16" Rods Southland Tool Part No: SLT1-1	20	\$26.50	\$530.00
5	Assembly Turning Handle for 5/16" Rods Southland Tool Part No: SLT2-1	20	\$55.00	\$1,100.00
6	1/4" Auger, for 2-inch pipe, flexible flat and spiral blade with cutting edges front and back (with 5/16-inch Adaptor Rod)	30 Shaft	\$52.00	\$1,560.00
7	1/4" Auger, for 2-inch pipe, flexible flat and spiral blade with cutting edges front and back (with 5/16-inch Coiled Spring Shaft	30 Spring	\$70.00	\$2,100.00
8	¹ / ₄ " Auger, for 2-inch pipe, flexible flat and spiral blade with cutting edges front and back (with 1/4-inch Adaptor Rod) (FOR ¹ / ₄ " RODS).	30 Shaft	\$52.00	\$1,560.00
9	cutting edges front and back (with 5/16-inch Adaptor Rod) Southland Tool PN SLA3-1SS-P5 (Rod)	50 Spring	\$53.00	\$2,650.00
10	1/4"Auger, for 3-inch pipe, flexible flat and spiral blade with cutting edges front and back (with 5/16" Coiled Spring Shaft)	30 Spring	\$74.00	\$2,220.00
11	1/4" Auger, for 3-inch pipe, flexible flat and spiral blade with cutting edges front and back (with 1/4 - inch Adaptor Rod) (For 1/4" RODS).	30 Shaft	\$53.00	\$1,590.00
12	1/4"Auger, for 4-inch pipe, flexible flat and spiral blade with cutting edges front and back (with 5/16-inch Adaptor Rod).	30 Shaft	\$69.00	\$2,070.00
13	1/4"Auger, for 4-inch pipe, flexible flat and spiral blade with cutting edges front and back (With 1/4" coiled spring shaft) Southland Tool PN SLP5-5-4 (Spring)	25 Spring	\$77.00	\$1,925.00
14	¹ / ₄ "Auger, for 4-inch pipe, flexible flat and spiral blade with cutting edges front and back (with ¹ / ₄ - inch Adaptor Rod), (FOR ¹ / ₄ " RODS)	25 Shaft	\$69.00	\$1,725.00

Agent: Judi Moore

Bid Opening: January 23, 2018 @3:00 p.m. Price Opening: March 2, 2018 @10:00 a.m.

DEPARTMENT OF PURCHASING AND CONTRACTING BID TABULATION

COMPANY		P & H SUPPLY Company		
ITEM	DESCRIPTION	Estimated Number of Units	Unit Price	Amount
15	cutting edges front and back (W 5/16-inch Adaptor Rod) (For 5/16" Rod) Southland Tool PN SLA5-1SS-P5 (Rod)	50 Spring	\$985.00	\$4,750.00
16	cutting edges front and back (with 5/16-inch Adaptor Rod). Southland Tool PN SLA5-1SS-P5 (Rod);	30	\$95.00	\$4,750.00
17	cutting edges front and back (with 5/16 Coiled Spring Shaft) Southland Tool PN SLP5-5-5 (Spring)	50 Spring5 (Reg.)	\$98.00	\$4,900.00
18	5/16"Auger, for 6-inch pipe size, flexible flat and spiral blade with cutting edges front and back (with 5/16-inch Adaptor Rod Regular Shaft	50 Shaft	\$124.00	\$6,200.00
19	50 Shaft	50 Spring	\$124.00	\$6,200.00
20	Frame, rod, Southland Tool PN SLP5-1 Bidding On:	30	\$70.00	\$2,100.00
21	Corkscrew, for 2-inch pipe; (for ¼" rods) /" long coiled spring with super short threaded straight end pig tail for ¼" rods	30	\$45.09	\$1,350.00
22	Tool, assembly, for coupling or uncoupling; (1/4" rods) Southland Tool PN SLP5-8.	30	\$29.00	\$870.00
23	Nozzle, for Sand and Grease, cast aluminum, with eight rear and one forward replaceable orifices, with rear jets at 15 angles, for use with ³ / ₄ " hose: Serco-Flexible No. SSN-1.	30	\$290.00	\$870.00
24	Nozzle, stainless steel, penetrator small openings, with five rear orifices angled at 35 degrees for blast effect and one front orifice, for use with ³ / ₄ " inch hose size: Serco-Flexible	30	\$600.00	\$18,000.00
25	Nozzle, "Un-Stopper", stainless steel penetration, with 3 tendegree thruster jets at rear of body, front tip having multiple	30	\$260.00	\$7,800.00
26	Nozzle Rotating Blade Spinner Penetrates and Cuts Hard Obstructions, Grease and Hairline Roots for 3/4" hose, 50 GPM @3000PSI	25	\$365.00	\$9,125.00
27	construction, 3 rear and 1 forward jet, for ³ / ₄ " hose, 50 GPM @3000PSI Part Number SECA 52118-00-F	25	\$420.00	\$10,515.75
28	Tool, pull-out, slotted for rod size 5/16-inch; Southland Tool Part No. SLT3-1 ONLY.	15	\$37.00	\$555.00

Agent: Judi Moore

Bid Opening: January 23, 2018 @3:00 p.m. Price Opening: March 2, 2018 @10:00 a.m.

DEPARTMENT OF PURCHASING AND CONTRACTING BID TABULATION

COMPANY		P & H SUPPLY Company		
ITEM	DESCRIPTION	Estimated Number of Units	Unit Price	Amount
29	Tool, pick-up, for rod retrieval, for rod size 5/16-inch; Southland Tool PN SLP1-1 ONLY. Bidding On:	20	\$29.00	\$580.00
30	inch O.D. x 19 inch long (overall length), w/ 5/16" pigtails w/ LH x RH on each end. Southland Tool PN SLSSU-2-1516 ONLY.	100	\$95.00	\$9,500.00
31	Upper Manhole Roller Guide (Aluminum) Nylon Roller Southland Tool: SLSAMR-1	30	\$185.00	\$5,550.00
32	Upper Manhole Roller Guide (Steel) Nylon Roller Southland Tool: SLSASR-1	30	\$175.00	\$5,250.00
33	Guide, "Lower Manhole Rigid Rod Guide", positions rods for line entry, required for hand rodding and power drive cleaning with sectional rods; Bidding On: Southland Tool PN RR-1-4, ONLY (2" to 1 ½" reducer must be modified so as to have a smooth transition inside that will not cause the rod connector to get caught on its edge.)	15	\$125.00	\$1,875.00
34	Puller, rod line, curved pipe and triangle brace; Southland Tool PN SLRLP-1 ONLY	5	\$325.00	\$1,625.00
35	TIGER TAILS, (Heavy Duty) 3"x 36", for Sewer Hose Protection, Southland Tool PN: SL - SJS-HD	5	\$209.00	\$1,045.00
36	Cutter, mini root and grease size ¾" - inch, 3000 psi @ 50 GPM, Sewer Equipment Co. of America Part No. 90402-00F, or acceptable equal:	10	\$825.00	\$8,250.00

Agent: Judi Moore

Bid Opening: January 23, 2018 @3:00 p.m. Price Opening: March 2, 2018 @10:00 a.m.

DEPARTMENT OF PURCHASING AND CONTRACTING BID TABULATION

COMPANY			P & H SUPPLY Company	
ITEM	DESCRIPTION	Estimated Number of Units	Unit Price	Amount
37	Cutter, root and grease, size 3/4" - inch, 3000 psi @ 50 GPM, Sewer Equipment Co. of America Model 91087-00-F Patriot, or acceptable equal:	10	\$1,100.00	\$11,000.00
38	Motor and Thruster, root and grease cutter, size ³ / ₄ " - inch, 3000 psi @ 50 GPM, (for Patriot 1), Sewer Equipment Co. of America Part No. 90949-00-F, or acceptable equal:	10	\$1,100.00	\$11,000.00
39	Motor and Thruster, root and grease cutter, size 3/4" - inch, 3000 psi @ 50 GPM, Sewer Equipment Co. of America Part No. 90945-00-F, or acceptable equal:	20	\$9,999.00	\$19,980.00
40	Kit, root and grease cutter, complete, size ³ / ₄ " - inch, 3000 psi @ 50 GPM, Sewer Equipment Co. of America Part No. 91091-00-F, or acceptable equal:	20	\$1,700.00	\$34,000.00
41	Saw, root, concave, 6-inch, with teeth both sides of blade and blade bend inward to keep teeth away from pipe sides, slides over slightly misaligned pipe joints, without hubs; Sewer Equipment Co. of America Part No. 30228-00-F, or acceptable equal:	50	\$99.00	\$4,950.00
42	Saw, root, concave, 8-inch, with teeth both sides of blade and blade bent inward to keep teeth away from pipe sides, slides over slightly misaligned pipe joints, without hubs; Sewer Equipment Co. of America Part No. 30229-00-F, ST-HCRS-8B or acceptable equal:	50	\$109.00	\$5,450.00
43	Kit, diamond tap cutter, complete, size 3/4" - inch, 3000 psi @ 50 GPM, 6-inch diamond saw; Sewer Equipment Co. of America Part No. 90958-39-F, or acceptable equal:	10	\$2,618.00	<u>\$</u> 26,180.00.
44	Kit, diamond tap cutter, complete, size 3/4" - inch, 3000 psi @ 50 GPM, 8-inch diamond saw; Sewer Equipment Co. of America Part No. 90963-39-F, or acceptable equal:	10	\$3,100.00	\$31,000.00

Agent: Judi Moore

Bid Opening: January 23, 2018 @3:00 p.m. Price Opening: March 2, 2018 @10:00 a.m.

DEPARTMENT OF PURCHASING AND CONTRACTING BID TABULATION

COMPANY		P & H SUPPLY Company		
ITEM	DESCRIPTION	Estimated Number of Units	Unit Price	Amount
45	Saw, 6-inch diamond tap cutter, Sewer Equipment Co. of America Part No. 72796-01-F, ST-DTC6 or acceptable equal:	10	\$1,400.00	\$14,000.00
46	Saw, 8-inch diamond tap cutter, Sewer Equipment Co. of America Part No. 72797-01-F, ST-DTC8 or acceptable equal:	10	\$1,900.00	\$19,000.00
47	Nozzle, Wart Hog, 3/4"- inch, 3000PSI @ 50 GPM	10	\$2,102.00	\$21,020.00
48	Universal Spring, 1"OD of ¼" steel x 19" Long, with ¼" pigtails LH x RH threaded on each end, short shank for max strength.	25	\$75.00	\$1,875.00
49	Hub 1" for root cutter heavy duty saw Blades. Saw 1/8" Thick	50	\$30.00	\$1,500.00
50	Hub 1", root cutter standard for standard saw blade. Saw 3/16" Thick Mfg.: P&H, P/N ST-RSH-1A.	50	\$30.00	\$1,500.00
51	Pull Out Turning Handles – (For Turning ¼" Rods) Part Number: ST-P5-10	50	\$40.00	\$2,000.00
52	Push, Pull and Twisting Handle (For Turning 5/16" Rods) Southland Tool PN: ST-T4-1	50	\$40.00	\$2,000.00
53	Rod Turning Ratchet (Single for 5/16" Rods) Southland Tool PN: T11 (Requires 2 to turn rod)	50	\$175.00	\$8,750.00
54	Rod Turning Ratchet (One man double) Southland Tool PN: T12	10	\$270.00	\$2,700.00
GRAN		D TOTAL!	\$391.205.75	

Agent: Judi Moore

Bid Opening: January 23, 2018 @3:00 p.m. Price Opening: March 2, 2018 @10:00 a.m.

ITB No:. 17-100857

ITB Name: Sewer Rods and Accessories

DEPARTMENT OF PURCHASING AND CONTRACTING
BID TABULATION

Bid Opening: January 23, 2018 @3:00 p.m.
Price Opening: March 2, 2018 @10:00 a.m.
Agent: Judi Moore

COMPANY		P & H SUPPLY Company			
ITEM	DESCRIPTION	Estimated Number of Units	Unit Price	Amount	
Number	of Bids Received:	- GILLI	7 10 11121	1	
LSBE Participation Benchmark /GFE				Waived	
Attendan	Attendance at the Mandatory LSBE Meeting			YES	
Separate	Sealed Price Schedule (Yes/No)			YES	
	Recommend Award to:				
	upply Co., Inc. non Avneue				
P.O. Box					
	on, Georgia 30828				

Witness: Angel Frazier